Benzaldehyde

Response Ratio

O 4 I I I I I I I I

0 0.5 1 1.5 2 2.5 3 3.5 4
Concentration Ratio

R = -3.908e-002 A*A + 6.031e-001 A + 3.126e-001

Coef of Det (r™2) = 0.990929 Curve Fit: Quadratic

Method Name: Z:\svoasrv\HPCHEM1\BNA F\Methods\8270-BF052622.M
Calibration Table Last Updated: Fri May 27 01:51:59 2022



2,4-Dinitrophenol

Response Ratio

O 4 I I I I I I I I

0 0.5 1 1.5 2 2.5 3 3.5 4
Concentration Ratio

Response = 1.318e-001 * Amt - 4.495e-002
Coef of Det (r®2) = 0.997451  Curve Fit: Linear
Method Name: Z:\svoasrv\HPCHEM1\BNA F\Methods\8270-BF052622.M
Calibration Table Last Updated: Fri May 27 01:51:59 2022



4,6-Dinitro-2-methylphenol
Response Ratio

0.4+

O 4 I I I I

0 0.5 1 1.5 2 2.5
Concentration Ratio

Response = 1.044e-001 * Amt - 2.872e-002
Coef of Det (r®2) = 0.998502 Curve Fit: Linear
Method Name: Z:\svoasrv\HPCHEM1\BNA F\Methods\8270-BF052622.M
Calibration Table Last Updated: Fri May 27 01:51:59 2022



